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7
8 |=SUM(W3:16) =SUM(X3:X6)
L
H K 3
) AB AC AD AE
2 [paint K AFHUEHD Bl S
3 |pEin E =DSUM ( 1$J$18, AB$2, $AA$8: $AAS9) =DSUM ($A$2:$J$18, AC$2, SAA$S: $AAS9) =DSUM ($A$2: 18, AD$2, $AASS: $AAS$9) =AD3/SUM ($AD$3 : $AD$S6)
4 50 P |=DSUM($A$2:$J$18, AB$S2, SABSS: $AB$9) =DSUM (SA$2:$J$18, AC$2, $ABSS: SABSO) =DSUM ($A$2:$J$18, AD$2, SABSS: $AB$9) =AD4/SUM ($AD$3: $ADS6)
5 |G [=DSUM($A$2:$J$18, AB$S2, SACSS: $ACS9) =DSUM ($A$2:$J$18, AC$2, $ACSS: SACSI) =DSUM ($A$2:$J§18, AD$2, $ACSS: SACS9) =AD5/SUM ($AD$3 $ADS6)
6 |pgih H =DSUM (§ :$J$18, AB$2, $ADSS: $ADS9) =DSUM ($A$2:$J$18, AC$2, $ADSS: $ADS9) =DSUM ($A$2: 18, AD$2, $AD$S: $AD$9) =AD6/SUM ($AD$3 : $AD$S6)
L
HAakK 4
AG Al
2 TG = N B b L O =DCOUNTA (3A$2:$)$18, 4, Ao AL7T)
Bl [ PNy A =INDEX (A3:J 18, MATCH (MAX (J3:J18), J3:J18, 0), 2)




